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AKTIVITAS belajar matematika SISWA (B)
Tinggi (b1) Sedang (b1) Rendah (bi)
~|100 9 96 88 |96 92 ss ss [ 76 72 72 68
| E] 8 84 7 88 84 80 80 | 68 64 64 60
g|= 76 76 76 76 | 60 60
= & 76
2|3 84 76 76 64
E| S| o2 g 88 84 [ 84 84 80 80 ° &
= E| s s0 76 0 76 12 2 | % 0% 0
= g 72 72 68 68 -
3| 68 68 68 62
¥
=y  =717142934 T > R
% e LCSE 89.1429 [ 82.76923 66.4
i = Viee = Yoo = 11175, 737 (7} (13) (10)
h e % o N N Konvensional ad F3.375 | G68.88889
Bi = Veje = Yoo = P11 By, Py 7| [ imesssimiionia
’ . - (7) (16) (9)
(@3)ij = Vi = Yiee = Vojo + V... | [ 2080 173.1429 | 156.1442 | 135.2889
(14) (29) (19)
rataan 86.27145 | 78.07212 | 67.64445




residual
— e s o ALanaSAAAIES st =
yi | Mod | Akt ¥ je Res Vi Mod Akt ¥ gje Res
100 1 1 89.1429 10.8571 a0 2 1 a4 -4
a8 1 1 89.1429 -1.1429 a8 2 1 a4 4
96 1 1 89.1429 6.8571 a0 2 1 a4 -4
a4 1 1 89.1429 -5.1429 a8 2 1 a4 4
96 1 1 89.1429 6.8571 76 2 1 a4 -8
72 1 1 89.1429 -17.1429 a4 2 1 a4 0
a8 1 1 89.1429 -1.1429 a4 2 2 F73.375 10.625
96 1 2| B2.76923 13.23077 a0 2 2 73.375 6.625
a8 1 2| B2.76923 2.23077 72 2 2 F73.375 -1.375
76 1 2| B2.76923 -6.76923 68 2 2 F73.375 -5.375
76 1 2| B2.76923 -6.76923 a4 2 2 F73.375 10.625
92 1 2| B2.76923 9.23077 76 2 2 73.375 2.625
a4 1 2| B2.76923 1.23077 72 2 2 F73.375 -1.375
76 1 2| B2.76923 -6.76923 68 2 2 F73.375 -5.375
a8 1 2| B2.76923 2.23077 a0 2 2 F73.375 6.625
a0 1 2| B2.76923 -2.76923 72 2 2 F73.375 -1.375
Fiv 1 2| 82.76923 -6.76923 o8 2 2 F73.375 -5.375
a8 1 2| B2.76923 2.23077 68 2 2 F73.375 -5.375
a0 1 2| 82.76923 -2. 76923 a0 2 2 73.375 6.625
Fiv) 1 2| B2.76923 -6.76923 72 2 2 F73.375 -1.375
Fiii] 1 3 66.4 9.6 68 2 2 73.375 -5.375
AR 1 2 AR A 1 A A7 2 2 T2 375 211 326




